Lésungen 27.04.2021

2. ALA[ ko
1,09m F
A,09wm 68w 6dm
< Sk —
—91dm—> 75cm =2 5dw

A

v

2.6 dw

0= 264w 25dun +4 4 qAdun-6dom
= MTdwt + §¢6Lut

2.49,6 Aun®

‘44,

k—15cm—)

\ 6cm

(—15cm4+~10 cm-) 7cm
AO corn / T ASemm

LA

I/

v

= SOcu: Fcon ¥ ' AT Gunn
= 350 amb £ ALO cunt

= 530 CAMz

6a M 08-April Seite 1



g&)

3 Er&d@* amch audlece
H&y&&&m?&, Ko,
U 2 Kef zoum Mk e e

/ ?M‘JU&M cu &ﬁ&um ‘
J

0= Ppastedkiq + A posedsz +A—R20Qde&3"
* d Powied,

Acon A4S o + Acun - 4, Seun + Aow i, 2eun
td 44 Teenr L Teon

(1

/(‘TC‘-\*L ¥ Lf’rwl + Lr,?C(MZ' “— 61?’\‘\%2—
A}/‘NQLWZ

N

6a M 08-April Seite 2



